

Sever S. Dragomir, Simon Fitzpatrick

THE HADAMARD INEQUALITIES
FOR s -CONVEX FUNCTIONS IN THE SECOND SENSE

Abstract. We derive some inequalities of Hadamard's type for s -convex functions in the second sense and give some applications connected with special means.

1. Introduction

In the paper [11] the following class of functions was considered.

DEFINITION 1.1. Let $s \in (0, 1]$. A real valued function on an interval $I \subset [0, \infty)$ is s -convex in the second sense provided

$$(1.1) \quad f(\alpha u + \beta v) \leq \alpha^s f(u) + \beta^s f(v)$$

for all $u, v \in I$ and $\alpha, \beta \geq 0$ with $\alpha + \beta = 1$. This is denoted by $f \in K_s^2$.

This definition of s -convexity was considered by Breckner [1], where the problem of whether rationally s -convex functions are s -convex was explored.

We record here some of the results from [11] about s -convex functions.

THEOREM 1.2. Let $0 < s < 1$. If $f \in K_s^2$ then f is nonnegative.

Indeed one can put $u = v = x$ and $\alpha = \beta = 1/2$ in (1.1) to get $f(x) \geq 0$.

Recall that a function $f : [0, \infty) \rightarrow [0, \infty)$ is a ϕ -function if $f(0) = 0$ and f is nondecreasing and continuous.

THEOREM 1.3 [11, Corollary 2]. If Φ is a convex ϕ -function and f is a ϕ -function in K_s^2 then the composition $\Phi \circ f$ belongs to K_s^2 . In particular $\Phi^s \in K_s^2$.

There are, however, ϕ -functions in K_s^2 which are neither of the form $\Phi(u^s)$ nor Φ^s for any convex ϕ -function Φ ([11], Example 3)).

1991 Mathematics Subject Classification: 26D15, 26D99.

Key words and phrases: Hadamard's inequality, s -convex functions in the second sense.

For a convex function in an interval I , Hadamard's inequalities are

$$f((a+b)/2) \leq \int_a^b f(x) dx / (b-a) \leq (f(a) + f(b))/2$$

for $a, b \in I$ with $a < b$.

Some generalizations and applications of these inequalities are given in the papers [2-10] and the book [12], which gives further references.

In this paper we prove some inequalities like Hadamard's for s -convex functions in the second sense. We give some applications for numerical inequalities involving special means. The integrals exist because of the following result, which is analogous to the local Lipschitz property of convex functions.

THEOREM 1.4. *Let f be a function on $[a, b]$ which is s -convex in the second sense. Then for $a < y < z < b$ we have*

$$(1.2) \quad |f(y) - f(z)| \leq (z-y)^s \max(f(b)/(b-y)^s, f(a)/(z-a)^s)$$

so the f is locally Hölder continuous of order s on (a, b) . Thus f is Riemann integrable on $[a, b]$.

P r o o f. Put $t := (z-y)/(b-y)$ so that $z = (1-t)y + tb$ and by (1.1)

$$f(z) \leq (1-t)^s f(y) + t^s f(b) \leq f(y) + t^s f(b).$$

Thus $f(z) - f(y) \leq t^s f(b) = ((z-y)^s / (b-y)^s) f(b)$.

Similarly we have $f(y) - f(z) \leq (z-y)^s f(a) / (z-a)^s$ by choosing t so that $y = ta + (1-t)z$. That establishes (1.2) and the other assertions follow easily.

In the case where f actually takes on its least possible value, 0, we have monotonicity on either side of the zero.

THEOREM 1.5. *Let f be a function on $[a, b]$ which is s -convex in the second sense. If $f(c) = 0$ for some $c \in [a, b]$ then $f(x) \leq f(y)$ if $c \leq x \leq y \leq b$ and $f(x) \geq f(y)$ if $a \leq x \leq y \leq c$.*

P r o o f. If $c \leq x \leq y \leq b$ then $f(x) \leq t^s f(c) + (1-t)^s f(y)$ by (1.1) if $x = tc + (1-t)y$. So $f(x) \leq (1-t)^s f(y) \leq f(y)$. The inequality on the other side of c is similar.

2. Hadamard's Inequality

Our first result is a generalization of Hadamard's Inequalities which reduces to it in the case $s = 1$.

THEOREM 2.1. *Let f be a s -convex function in the second sense on an interval $I \subset [0, \infty)$ and let $a, b \in I$ with $a < b$. Then*

$$(2.1) \quad 2^{s-1} f((a+b)/2) \leq \int_a^b f(x) dx / (b-a) \leq (f(a) + f(b)) / (s+1).$$

Proof. As f is s -convex on I we have

$$f(ta + (1-t)b) \leq t^s f(a) + (1-t)^s f(b)$$

for all $t \in [0, 1]$. Integrating this inequality we get

$$\int_0^1 f(ta + (1-t)b) dt \leq f(a) \int_0^1 t^s dt + f(b) \int_0^1 (1-t)^s dt = (f(a) + f(b)) / (s+1)$$

and the second inequality in (2.1) follows.

To prove the first inequality, observe that for all $x, y \in I$ we have

$$(2.2) \quad f((x+y)/2) \leq (f(x) + f(y)) / 2^s.$$

Then put $x := ta + (1-t)b$ and $y := tb + (1-t)a$ to get

$$f((a+b)/2) \leq (f(ta + (1-t)b) + f(tb + (1-t)a)) / 2^s.$$

Integrating this inequality we get the first part of (2.1).

REMARK 2.2. For any $s \in (0, 1]$ the second inequality in (2.1) is sharp.

Indeed by Theorem 1.3 the function $f(x) := x^s$ is s -convex on $[0, 1]$ and we have $\int_0^1 x^s dx = 1/(s+1) = (f(0) + f(1)) / (s+1)$.

3. The mapping H and its properties

Let $f \in L^1[a, b]$ and define

$$(3.1) \quad H(t) := \frac{1}{b-a} \int_a^b f(tx + (1-t)(a+b)/2) dx$$

for $t \in [0, 1]$.

THEOREM 3.1. *Let f be a s -convex function in the second sense on an interval $[a, b]$. Then H is s -convex on $[0, 1]$ and if $0 \leq t \leq 1$ then*

$$(3.2) \quad H(t) \geq 2^{s-1} f((a+b)/2).$$

Proof. Let $t_1, t_2 \in [0, 1]$ and $\alpha, \beta \geq 0$ with $\alpha + \beta = 1$. Then

$$\begin{aligned}
& H(\alpha t_1 + \beta t_2) \\
&= \int_a^b f[(\alpha t_1 + \beta t_2)x + (1 - (\alpha t_1 + \beta t_2))(a + b)/2] dx / (b - a) \\
&= \int_a^b f(\alpha[t_1 x + (1 - t_1)(a + b)/2] + \beta[t_2 x + (1 - t_2)(a + b)/2]) dx / (b - a) \\
&\leq \int_a^b [\alpha^s f(t_1 x + (1 - t_1)(a + b)/2) + \beta^s f(t_2 x + (1 - t_2)(a + b)/2)] dx / (b - a) \\
&= \alpha^s H(t_1) + \beta^s H(t_2)
\end{aligned}$$

which shows that H is s -convex in the second sense.

Now let $t \in (0, 1]$. Put $u := tx + (1 - t)(a + b)/2$ to get

$$H(t) = \int_q^p f(u) du / (p - q)$$

where $p := tb + (1 - t)(a + b)/2$ and $q := ta + (1 - t)(a + b)/2$.

Applying (2.1) we get

$$\int_q^p f(u) du / (p - q) \geq 2^{s-1} f((p + q)/2) = 2^{s-1} f((a + b)/2)$$

and the inequality (3.2) follows.

For $t = 0$ we use Theorem 1.2 which says that $f((a + b)/2) \geq 0$. Define

$$H_1(t) := t^s \int_a^b f(x) dx / (b - a) + (1 - t)^s f((a + b)/2)$$

and

$$H_2(t) := [f(ta + (1 - t)(a + b)/2) + f(tb + (1 - t)(a + b)/2)] / (s + 1)$$

THEOREM 3.2. *Let f be a s -convex function in the second sense on an interval $[a, b]$. Then for $0 \leq t \leq 1$*

$$(3.3) \quad H(t) \leq \min(H_1(t), H_2(t)).$$

Proof. Applying the second half of (2.1) we have

$$\begin{aligned}
\int_p^q f(u) du &\leq (f(p) + f(q)) / (s + 1) \\
&= (f(tb + (1 - t)(a + b)/2) + f(ta + (1 - t)(a + b)/2)) / (s + 1)
\end{aligned}$$

while for $t = 0$ it again reduces to Theorem 1.2 which says that $f((a+b)/2) \geq 0$.

For H_2 , we have

$$f(tx + (1-t)(a+b)/2) \leq t^s f(x) + (1-t)^s f((a+b)/2)$$

and integrating this inequality we get the remaining inequality needed for (3.3).

On the other hand if we let $\tilde{H} := \max(H_1, H_2)$ then we can also get bounds.

THEOREM 3.4. *Let f be a s -convex function in the second sense on an interval $[a, b]$. If $\tilde{H} := \max(H_1, H_2)$ for $0 \leq t \leq 1$ we have then*

$$\tilde{H}(t) \leq t^s(f(a) + f(b))/(s+1) + (1-t)^s 2f((a+b)/2)/(s+1).$$

P r o o f. We have

$$\begin{aligned} H_2(t) &\leq (t^s f(a) + (1-t)^s f((a+b)/2) + t^s f(b) \\ &\quad + (1-t)^s f((a+b)/2))/(s+1) \\ &= t^s(f(a) + f(b))/(s+1) + (1-t)^s 2f((a+b)/2)/(s+1). \end{aligned}$$

On the other hand, by (2.1) we know that

$$\int_a^b f(x) dx / (b-a) \leq (f(a) + f(b))/(s+1)$$

and

$$(1-t)^s f((a+b)/2) \leq (1-t)^s 2f((a+b)/2)/(s+1)$$

for $0 < t < 1$ so that

$$H_1(t) \leq t^s(f(a) + f(b))/(s+1) + (1-t)^s 2f((a+b)/2)/(s+1)$$

as required.

REMARK 3.2. If f is a convex function on $[a, b]$ and H is as above, then we get

$$\inf\{H(t) : t \in [0, 1]\} = H(0) = f((a+b)/2)$$

and

$$\sup\{H(t) : t \in [0, 1]\} = H(1) = \int_a^b f(x) dx / (b-a)$$

which recovers some results from [4] (see also [5] and [9]).

Also we get the inequalities

$$H(t) \leq \min \left(t \int_a^b f(x) dx / (b-a) + (1-t)f((a+b)/2), \right. \\ \left. [f(ta + (1-t)(a+b)/2) + f(tb + (1-t)(a+b)/2)]/2 \right)$$

and

$$\tilde{H}(t) \leq t(f(a) + f(b))/2 + (1-t)f((a+b)/2)$$

for all $t \in [0, 1]$, which complement the results from [9].

4. The function F and its properties

Assume that f is Lebesgue integrable on $[a, b]$. Consider the function defined by

$$F(t) := \int_a^b \int_a^b f(tx + (1-t)y) dx dy / (b-a)^2$$

for $t \in [0, 1]$. The following result can be proved similarly to Theorem 3.1.

THEOREM 4.1. *Let f be s -convex in the second sense on $[a, b]$. Then F is also s -convex in the second sense and $F(1/2+t) = F(1/2-t)$ for $t \in [0, 1]$.*

Now we prove some inequalities regarding this double integral.

THEOREM 4.2. *Let f be s -convex in the second sense on $[a, b]$. Then for $t \in [0, 1]$ we have:*

$$(4.1) \quad 2^{1-s} F(t) \geq \int_a^b \int_a^b f((x+y)/2) dx dy / (b-a)^2,$$

$$(4.2) \quad F(t) \geq 2^{s-1} \max(H(t), H(1-t)),$$

$$(4.3) \quad F(t) \leq (t^s + (1-t)^s) \int_a^b f(x) dx / (b-a)$$

and

$$(4.4) \quad F(t) \leq (f(a) + f(ta + (1-t)b) + f(b) + f(tb + (1-t)a)) / (s+1)^2.$$

P r o o f. Since f is s -convex in the second sense we have

$$(f(tx + (1-t)y) + f(ty + (1-t)x))/2^s \geq f((x+y)/2)$$

for all $t \in [0, 1]$ and $x, y \in [a, b]$. Integrating over $[a, b]^2$ we get

$$\int_a^b \int_a^b (f(tx + (1-t)y) + f(ty + (1-t)x))/2^s dx dy \geq \int_a^b \int_a^b f((x+y)/2) dx dy$$

and as

$$\int_a^b \int_a^b f(tx + (1-t)y) dx dy = \int_a^b \int_a^b f(ty + (1-t)x) dx dy$$

this yields (4.1).

Now for $y \in [a, b]$ define

$$H_y(t) := \int_a^b f(tx + (1-t)y) dx / (b-a)$$

so that, as in Theorem 3.1 we have

$$H_y(t) = \int_p^q f(u) du / (p-q)$$

where $p := tb + (1-t)y$ and $q := ta + (1-t)y$. Applying Hadamard's inequality we get

$$\int_p^q f(u) du / (p-q) \geq 2^{s-1} f((p+q)/2) = 2^{s-1} f(t(a+b)/2 + (1-t)y)$$

and integrating over $y \in [a, b]$ we find $F(t) \geq 2^{s-1} H(1-t)$. Since $F(t) = F(1-t)$ we get (4.2).

To get (4.3) we integrate the inequality

$$f(tx + (1-t)y) \leq t^s f(x) + (1-t)^s f(y)$$

over $[a, b]^2$.

Now observe that, in the notation above, we have

$$H_y(t) = \int_p^q f(u) du / (p-q) \leq (f(tb + (1-t)y) + f(ta + (1-t)y)) / (s+1)$$

so that integrating over $[a, b]$ we get

$$F(t) \leq \int_a^b (f(tb + (1-t)y) + f(ta + (1-t)y)) dy / ((s+1)(b-a)).$$

As above we have

$$\int_a^b f(tb + (1-t)y) dy / (b-a) \leq (f(b) + f(tb + (1-t)a)) / (s+1)$$

and

$$\int_a^b f(ta + (1-t)y) dy / (b-a) \leq (f(a) + f(tb + (1-t)a)) / (s+1)$$

and we add those inequalities to get (4.4).

5. Applications

Suppose that f is a concave function on an interval $[a, b]$ which is also s -convex in the second sense. Then we have

$$(5.1) \quad \int_a^b f(x) dx / (b-a) \leq f((a+b)/2) \leq 2^{1-s} \int_a^b f(x) dx / (b-a)$$

which suggests that we need conditions which guarantee that f has those properties.

THEOREM 5.1. *Let Φ be a ϕ -function on $[0, \infty)$ which is twice differentiable on $(0, \infty)$. If $0 < s < 1$ and*

$$0 \leq \Phi(t)\Phi''(t) \leq (1-s)[\Phi'(t)]^2$$

for all t then Φ^s is a concave function which is also s -convex in the second sense.

Proof. Note that if $\Phi(t) \neq 0$ then $\Phi''(t) \geq 0$, so Φ is convex. By Theorem 1.3 the function $g := \Phi^s$ is s -convex in the second sense. Then

$$g''(t) = s[\Phi(t)]^{s-2}[\Phi(t)\Phi''(t) - (1-s)(\Phi'(t))^2] \leq 0$$

which shows that g is also concave.

COROLLARY 5.2. *Let $s \in (0, 1)$. Then for $1 \leq p \leq 1/s$ the function $g(x) := x^{ps}$ is concave and s -convex in the second sense on $[0, \infty)$.*

Now if we choose $f(t) := t^{ps}$ for $1 \leq p \leq 1/s$ then we have for $0 < a < b$

$$\begin{aligned} 0 &\leq (b^{ps+1} - a^{ps+1}) / ((b-a)(ps+1)) \leq ((a+b)/2)^{ps} \\ &\leq 2^{1-s}(b^{ps+1} - a^{ps+1}) / ((b-a)(ps+1)) \end{aligned}$$

so that using (2.1) to get

$$(b^{ps+1} - a^{ps+1}) / ((ps+1)(b-a)) \leq (a^{ps} + b^{ps}) / (s+1)$$

we see that in the notation above

$$\begin{aligned} H(t) &= \left(\int_a^b (tx + (1-t)(a+b)/2)^{ps} dx \right) / (b-a) \\ &= [(tb + (1-t)(a+b)/2)^{ps+1} \\ &\quad - (ta + (1-t)(a+b)/2)^{ps+1}] / ((ps+1)t(b-a)) \end{aligned}$$

for all $t \in (0, 1]$. Thus using the results of Section 3 we have the inequalities:

$$\begin{aligned}
 2^{s-1}((a+b)/2)^{ps} &\leq [(tb + (1-t)(a+b)/2)^{ps+1} \\
 &\quad - (ta + (1-t)(a+b)/2)^{ps+1}]/((ps+1)t(b-a)) \\
 &\leq \min(t^s(b^{ps+1} - a^{ps+1})/((ps+1)(b-a)) + (1-t)^s((a+b)/2)^{ps}, \\
 &\quad [(ta + (1-t)(a+b)/2)^{ps} + (tb + (1-t)(a+b)/2)^{ps}]/(s+1)
 \end{aligned}$$

and

$$\begin{aligned}
 &\max\{t^s(b^{ps+1} - a^{ps+1})/((ps+1)(b-a)) + (1-t)^s((a+b)/2)^{ps}, \\
 &\quad [(ta + (1-t)(a+b)/2)^{ps} + (tb + (1-t)(a+b)/2)^{ps}]/(s+1)\} \\
 &\leq t^s(a^{ps} + b^{ps})/(s+1) + (1-t)^s2((a+b)/2)^{ps}/(s+1)
 \end{aligned}$$

for $0 < t < 1$, $0 < s < 1$ and $1 \leq p \leq 1/s$.

References

- [1] W. W. Breckner, *Stetigkeitsaussagüe für eine Klasse Verallgemeinerte konvexen funktionen in topologischen linearen Räumen*, Publ. Inst. Math. 23 (1978), 13–20.
- [2] S. S. Dragomir, *Two refinements of Hadamard's inequalities*, Coll. Sci. Pap. of the Fac. of Sci., Kragujevac (Yugoslavia), 11 (1990), 23–26.
- [3] S. S. Dragomir, J. E. Pečarić and J. Sandor, *A note on the Jensen-Hadamard inequality*, Anal. Num. Theor. Approx. 19 (1990), 29–34.
- [4] S. S. Dragomir, *A mapping in connection to Hadamard's inequalities*, An. Öster. Akad. Wiss. Math.-Natur. (Wien), 128 (1991), 17–20.
- [5] S. S. Dragomir, *Two mappings in connection to Hadamard's inequalities*, J. Math. Anal. Appl. 167 (1992), 49–56.
- [6] S. S. Dragomir, N. M. Ionescu, *Some integral inequalities for differentiable convex functions*, Coll. Pap. of the Fac. of Sci. Kragujevac, 13 (1992), 11–16.
- [7] S. S. Dragomir, *Some integral inequalities for differentiable convex function*, Contrib., Macedonian Acad. Sci. Arts, 13 (1) (1992), 13–17.
- [8] S. S. Dragomir, N. M. Ionescu, *Some remarks in convex functions*, Anal. Num. Theor. Approx. 21 (1992), 31–36.
- [9] S. S. Dragomir, *On Hadamard's inequalities for convex functions*, Mat. Balkanica 6 (1992), 215–222.
- [10] S. S. Dragomir, *A refinements of Hadamard's inequality for isotonic linear functionals*, Tamkang J. Math. (Taiwan) 24 (1993), 101–106.
- [11] H. Hudzik, L. Maligranda, *Some remarks on s -convex functions*, Aequationes Math. 48 (1994), 100–111.
- [12] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and New Inequalities in Analysis*, Kluwer, Dordrecht, 1993.

- [13] J. E. Pečarić and S. S. Dragomir, *A generalization of Hadamard's inequality for isotonic linear functionals*, Radovi Mat. (Sarajevo) 7 (1991), 103–107.
- [14] J. E. Pečarić and S. S. Dragomir, *On some integral inequalities for convex functions*, Bul. Inst. Pol. Iași 36 (1-4) (1990), 19–23.

S. S. Dragomir

DEPARTMENT OF MATHEMATICS
WEST UNIVERSITY OF TIMISOARA
RO-1900 TIMISOARA, ROMANIA

Simon Fitzpatrick

DEPARTMENT OF MATHEMATICS AND STATISTICS
UNIVERSITY OF WESTERN AUSTRALIA
NEDLANDS 6907, AUSTRALIA

Received August 31st, 1998.